03089 B # L NMF T FNYUERE , TEREFLILF, AFEHEH

MBPIRRF

7= miiEA

M
W
TR LRI SR &R 5.8,

TN -
TR4HTE(LAb 3R,
1B ER 1.4305,
T4 1.4034,

RIREREMBENEELELF,

I
M :
TEALEL, MANBEELLE,

ENL ENL
FEMEE THEMEE TREE4R) -
MA@, A BEEALE,
padiiicl
| BRI EENEERTIRENMEREREE T RTREENENE
! _— | R, BH , BAUERWRIREE —BRSOHEATENZERNENE
= : E. EXERERATEEIHBEMQNERS , HERMESRENE
NEE, RENMEREETEBIIFNE, MREERAZTESN G
At FERARENENHE,
I
FERBSERFNIIRSEN , BNERLZEMISEHA.
REFEK :
R E R E R,
B4 -

BLEM R E MR E 03089,
BRIER 07212,

© norelem www.norelem.com



03089_B HFRMHE A FWNYRELE , FEREBEXICF,. BREFHIRE

MBPIRRF

D2
! |
| |
N o Sz
\l 1 1 T
1l T, T
|
| L2 10,0318
) !
v (4]
Wl D
SD D-0,01
B | 20,02
710,05]A]
D1 |_
03089-42105 B |4l |5 M10x1 (21| 8 6 6 -0,01/-0,02 43,517/ 7 |15/3 5 13 17 1,3 5 12
03089-42206 B | 4%l | 6| M12x1,5 [25] 10 |8,5 8,5-0,01/-0,03 51,7/20/ 8 |17/3 6 14 19 1,8 6 14
03089-42308 | B | & | 8| M16x1,5 |33|13,5|11| 11-0,01/-0,03 | 68 |26/1023| 4 8 19 | 24 | 2.3 15 35
03089-42410 B | %4l [10] M20x1,5 [33] 17 | 11 11 -0,01/-0,03 74 128/12|125/4 10 22 30 2,8 15 34
03089-402105 | B | &~ |5| Mi0x1 |21 8 | 6 6-0,01-0,02 |435[17|715/3 5 13 | 17 | 1,3 5 12
W
03089-402206 | B | & |6| M12x1,5 |25| 10 |85 8,5-0,01/-0,03 |51,7|20/8|17|3 6 14 | 19 | 1.8 6 14
W
03089-402308 B| +& |8| M16x1,5 [33]13,5]| 11 11 -0,01/-0,03 68 [26/10(|23|4 8 19 24 2,3 15 35
SN
03089-402410 B| & |10, M20x1,5 [33| 17 |11 11 -0,01/-0,03 74 128/12|125/4 10 22 30 2,8 15 34
SN

© norelem www.norelem.com



